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Selection for the post of Intermediate Apprentice Mechanical in stipendiary scale
in Level-6 against 25% IAM quota in Mechanical Department
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Important instructions for candidates

ey Braly SnsER) Babda deden SVAT AeuRrivy oo 8duod L.
e O £ N & T At Y R iRl Y ST v 7 e e

Candidate must read the following instructions carefully before attempting the paper.
e B wihd3 Bndd B, 3;w0BBO ITCrVRY 2J3r Sreaded A 8 ASIoAYRD,

I

JedOalve wBaheIs.
mmmmwﬁmm#ﬁmmm%#rmmwgﬁmﬂﬂamu

The candidates should fill the particulars in own handwriting in the space provided and should not write

these particulars anywhere else.
V30 VIO oQairRdde Jd), BID g deer Tod; LT adde @3d JeBIaDRD,

woabded vgm Ao YR BeoDBBY wrde BBUTT Favobab, wlabeled; 2BZT KLST

DS, FPO,FBS BRBIIIOY.
wﬁsﬁw*mmgﬁmmmq&ﬁwmmﬁa#maﬂémmﬁaﬂﬂﬁﬁm

T QRO F1 Hedihd g1 har snean|

Don’t write your name or roll number or any other indication anywhere in the Answer Book or any loose
sheet except fly leaf; otherwise, the Answer Book will not be evaluated.

V30 PIBY adres3s o sNgde JI® V30 PTBBO QBT e IdE @03
Borw0ad, EV30 PIBSRY, BRYERSBE, BriddpyuirbRde.
mgﬁmwﬂnﬂmmwmmﬂmawwmﬁﬂasmﬁwnﬂwm IR gRea®T

&1 HFAFA Ag1 far e

Answer Book will not be taken up for evaluation, if any distinguishing marks are found anywhere in
the answer book even if it is a random marking.

woeD SoRes, A 33,68 HVob) 2.aNTues. 0" S5 O™ & BovabQ o3, 8rie ¥juies. Z0ed ZwNT
030 Oz beer o) DT a B0 bodhNIerrZd.

TF Fd & T a9 & 9T were 1 welt| I6 FF i M 7 @ 3 ¢ 9w H FAftT & &g 16 AT

forfrerss &1 "igar gl
A separate sheet shall be provided for Rough Work. The Rough Work shall have to be carried out in this

sheet only. The Rough Sheet shall be returned back to the Invigilator on completion of the examination
ez Braln ) vgme 83, R0F° S weS 3% od) wYISed. 30 FHTBS Ien-otd/Bnde

D, wdabey WVAB et w3 Fedidod au eLITriert suZBTSed. eiBraly B4, dog
3 & dwomd A wgrv Jur-BRy, LYo, .
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11.

IFfNza iR w1 e i @ = aR ow dareta 4a = O uhe &t o & s sl O 6 o & R Tt
mwnmmwfammmmmunntmwuumm,m

seofe & watn A wt

The candidate should use either blue or black iak penball pen. All the answers should he answered with
the same colour of ink as used for writing fly-lealfirst page of the answer book. The candidate should not
use different colours of sketch-pen such as green, red, pencil, etc

wd sajeb FEACH CvIorVR BN Lot de,te'HY B B0V dnd cuIdTD
(evenasert (A] [B|d or D).
agfwedta weAt & o7 W a8 st # Re sme seweor (A B or D)

The answers to the multiple choice questions should invariably be answered in Capital letters only (For
example @ E E or @ ) in one stroke of the Pen.

ooy YV Jdbg 0 Berinvay medd . wed, euZsAT BYrivah Ceuweddh egse
woabeecoh.

R ST R el a0 A &1 O AT v 3 O R v i e A 2

Cross the blank boxes against the un-attempted Questions E. Questions once answered should not be crossed
or over written,

100 3,03 3~ BZ ! cu3daeled. aigyde Dol v s o3 B 3ZNort eu30IGT, Secw
b33 enzddda Soakah PNV Y Aedend wosnvR) @NG IdE wew, @osAVO
JedTwarh3d ) NPTV, ALFIBRHBT.

100 ¥ e weait 7 3a¢ 71 &) AR A Fodiear IR weerelt & 3o 3o forwar & ar ged v 77w et
# 9 e For IR Seett 36 ST 9 8 379 e FaT SO 3 3t o) Rt =AY et ey

Do not answer the question more than 100. If any candidate has answered questions in excess of required
number of questions, the marks awarded against requisite number of questions attempted first only will be
included in Total Marks obtained & rest will be ignored.

S0egob 0T 120 AErish. 3F) (IO shms,8 wosrval KB, B3 BE INBBID
083 1Rt Lo FeriER), 33, eu3orion BB YRLINES.

TR T HE 120 e Bl Ao 3u & U THERIcAS 3w g, TAE W F AU ety s
# ¥ & faers o st & v Fe fRar s

Duration of examination is 120 minutes. There will be negative marking for wrong answers, one third of the
mark allotted to each question will be deducted for wrong answers.

U380 BdBabe) alreeye Bedad BBV, WO, LERTD, VBRI BT Bremrdd
SR, 300 udanaith i SFos e 0RER) 4EdBILIOY. SHBB/ATcF Iydort
2e0BE euasHen Fem, eosnva) Ui,

JaX-gfeenr # fenelr off yehr i fear, Firaxarsiéer, S¥fSh, asefae ar dfde & drar stk ey off w7
CTRT SaTUHET 2t FAF AL ERaT AT FUR/ R WEFEaT arel 36t & R = 31 Ryw e

Any cutting, overwriting, erasing, whitening or alteration, writing in Pencil and overwriting by Pen of any
type in the answer booklet will not be accepted. Zero marks will be given for answers having correction/over
writing.

20tz Fer RO SR dedof Feeriw, T deasoivh egme @38 aegde adaag‘aa‘
Myuiv g madnv/seEomva) aw ey vbaidurbade.

IFHIEERT T TlET §Te # HIA I ASA B, FAGA AT RS 3o STl 1T IIHT AT FETSAT W
@A & Al 76 g

The candidates are not allowed to keep mobile phones, calculators or any other Electronic Gadgets or
documents/papers with them in the examination hall.

. 30ed/ealy ST ©HEONW/MHEBND vRHed3 oRbdsuNvRY Sdalna, OR,0had

IIVR) wvahd elBfiv ddg 3 TN ZyOoPIUAZwh. *CLd, Loz
e BTVl ealdbod Buedf dndurh3d.
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Disciplinary action will be initiated against candidates using unfair means, seeking
undue favours from Officers/officials conducting examination/selection. Further, such

candidates will also be debarred from the selection.
13. eqsramw w30da g v ﬁod6M 3 ev3dd 3P Ava e HVobd T3 rial

delduler).
Srteart ) TS 9 § 39T R 10 et £ wwar M ok e o7 391 € Rw v st w1 d@Fd & g

The candidates have to clearly indicate the number of questions answered and questions not answered on

the top sheet.

(frfrer® & g¥aerT /Signature of the Invigilator) GFAEAR & gFamei/Signature of the Candidate)



doeenn B cirachcle 100 2o 10t eudd Jed
ot & 100 v o e }
ANSWER ANY 100 QUESTIONS

’.'-: m 1",'.!1---'\ .‘""'I"
| At doott ey Jainet Bothir i) ederartd
L AP Oz z¥salr Hoad,

| wafigfe & wew fog o | AP wvamm ) o e

I Encashment given at the time of retirement for
no of LAP leave

A_300
B. 250
C. 280
D. 350

2. daeser dd, Ap exfr aenald ridg
050 Aeuxh3d

2. & Yo F 2 v % asaem w2

2. is the highest authority of the Stores
department of Zonal Railway

A.PCME
B. PCFTM
C. PCOM
D. PCMM

3. WSPD aiéafagoia JoZpnr ded omb?

3. WSPD worrft &1 1 w9 7 37
3. Full form of WSPD system

A. 38 I, OFme TGN / wlkar wirs Hegor suwwr/
Wheel Slide Protection Device

B. 38, A, Ogme Togs / ke fiars weawr sgemr/
Wheel Skid Protection Device

C. 38, Jert OFeme TGN / ufear nfey sieor Ivrer /
Wheel Speed Protection Device

D. 138, A& Ugme TegR / fear e s g /
Wheel Slip Protection Device

4. 3 3, oof st ZB3JabO o dhzosa)?

| x 100 = 100 esoglrinbl / ws / Marks)
4 o v be Bow # e o 1
4 Applcation time i twin pipe air brake system

A 1Dod S Bdoctrinl) 1R S dex 1o § sec
B 40006 Adochrindy 426 ¥ke 4106 sec
C. 5000 7 Adoclirtny / S a7 &z 510 7 sec

D. 15 8od 20 Béocirisly / 154 20 &%/ 1510 20

secC

5. ddq,df a‘muoi\aiag Seabr JTrbTen
uﬂdémd @R, v adg?

5. 4% v wafr 52 % R = @z s 9

5. For operating the Vacuum toilet what are the
inputs required?

A. JTYF BB, onZ, / Faw faech s/
Electricity only required

B. i B3) me NS, / et i gan smaeas /
Electricity and Air required

C. ), M@ ) dedh N, / frwet, Tan s ar

smawr / Electricity, Air and Water required

D. Qe dedh NS, / fawrelt, T s /
Electricity, Water required

6. O .{borf Iobrdrase a§ddaig‘ ey dert
RBBBRYeD/ Ve b Zed?

6. 3T Te R i 0 i Frerd Y Y WA/ WY

6. How you will adjust/maintain air spring working
height?

A. IHBo 83)80DR) BoBIES BweLE / wrw
T F w0 / By adjusting the levelling valve

B. 5387 deao? oUGERY, Bzbaeh B3
3T 38D BT SweuB / T wet £ dart 5

ofit-efft argre 41 wer / Gradual increase or decrease
the length of the installation lever



e

doeen B alraghcie 100 Z¥ ridr! eudc Jed
fah & 100 59 w2 Yo #
ANSWER ANY 100 QUESTIONS

oD / ¥afll / Durstion : 2 howrs
C. the0 A & B o0ds SxbriCod | wiw & A &
B/BohA&R

D. DO adngdtie By ot & & whf = | None of
the above

7.¢mwwqwnmoqu
dowobddd) vy?
7.m.iﬁlmﬂwmliiﬂllﬂr’

7. Which of the following is not related to
Secondary suspension?

A. &R @/ we e/ Miner pad
B. Oty 0f & orf / ww fiun / Rubber Spring
C. 530 wy,onF / #iw &z / Copper Band

D. ebeer, 3 adraghch @ /3wl § & :f 7 /
None of the above

8. W8V a0th LYAR avany SWd o3daR)
oa, Yrve B0BORIHIH?

8. ufidi & @ sreeett Jedl ¥ oftw i g e vl vt
Smeft?

8. Distance between two inner faces of the wheels
will be checked at how many locations?

A3
B.2
C.5
D. airecy@e @g /% ¢ / None

9. ‘K’ 85000 Boodw3 oes wE* e,
woodhaeR, oo AewedT-

9. 'K' YR ¥ T 3 sl I aaq a1 S e, AR 98
feramae & sftF B T

9. The ‘K’ type composite brake block should be
changed, if worn out beyond-

A. 10 mm

B. 12 mm

1R ] 0 Tl e Wlarhos
C Mem

D 2]l ==

0 M&WM*.WI’QM
10 #s rrn = frm ofipa fn d

10 Brake accelerator actuates during

A. B3deoth dems o abdq) / whe bw wie: &

& / Every service application

B. Dabr e o abdQ / swmmwent b ke
Emergency brake application

C. O3 o0BR A& B/ wiw T A& B/ Both A
&B

D. 20 ande v / 3w § & 31 7 / None of
the above

11. Fiat doeAad &3 f D) Begir DS
nrragraa Sedad weth?
11, firgg aft w1 wrd ik srpRed sfeel R g fovan e @7

11. Lateral & longitudinal guidance of Fiat bogie is
made by:

A. By Fmoes / 2wdte / Dashpot
B. uff3 Qabod)fn zlgri'hb /| anfégeiee feiam sfam /
Articulated control arms

C. 3,0 Wedo’ / we ot / Side bearer

D. 2eery 3 @R etg‘imﬂﬁﬁ#ﬁ%aﬁf

None of these

12. LHB 8pebniv eoey), oFRQ e 33,0571
md)tﬂsf
12. weeee i ¥ dee § w5 A gga

12. Capacity of the surge tanks in bolster of LHB
coaches

A. 60 Oee3oF / 60 <fiet/ 60 Lirs



doeenn O clngicie 100 2 ¢ ri0r! eudd el
ot & 100 o0 w2 e #
ANSWER ANY 106 QUESTIONS

B / 33/ Duration - 2 hours
B 40 Orac? [ 40 - 40 Loy

C S0 OeacF 0 shm . S0 L

D30 Oewot 10w W0 L

13 CBC ab towo IGID 0 ogoded?
13, CBC & wadda awwr Y wifownn st wn #7

13. Maximum height of supporting device of CBC

157

A. 1857 mm
B. 187.5 mm
C. 188.7 mm

D. 180.7 mm

14. LHB AC dref3Q wvrha uf 2oab8 gs
arghimh?

14, geges ge Fra § FemTe g 1 At st 1 9 @
7

14. Fire extinguishers used in LHB AC coach is

A. DCP @590 / it wshrt / A, DCP type
B. CO2 &00 / CO2 ¥#r / CO2 type
C. gipeadf @520 / W wan / Foam type

D. e0: drelde | / 3% & & ¢ 7 / None of

these

15. Seoky I F~F R8ond I I~ aﬁassacmq,
BIT0breE WoI30T Sesnaerh?

ls.wwﬁmﬁﬂﬂmﬂmmﬁwmm
7 &7

15. In air suspension secondary suspension system,
inadequate clearance is due to

A. BT DeSoFs LA=SFB8 S80S Jedorf /

e ot 1 sfa wifs #f2m / Improper initial
setting of installation lever

(! x 100
R oof Ydgeddy <OainA waefr dRdy w1
o mit avk & ard o few ww . Not proper charging of
air bellow

C UdOort gus, 4 uxidided saabs S 26
afier wwm w1 ey oo | Improper functioning of

levelling valve

D. e, b0 oyde / wiw mh / All the above

16. Weeh waets N dabodn salng wadurr!
onZ 3 teg’s __Nm?

16. avft stz v Pt gfam ¥ ¥ R smawrs 24 Nm
7

16. Torque required for control arm bracket at
bogie boltis _ Nm?

A. 170
B. 340
C. 430
D.70

17. 8Ff deedrfs svabe HD?

17. o 0@ =1 1 a1 27
17. What is the function of curve roll?
A. 8 Edo&ioﬁi’ddg‘ Jwead Eb'ad)gd / % Tt

% weg 7 2 / Helps in curve negotiation

B. tioeh ShrbIBab), SeolnBd / #ia at ¥ wew
it & arcafis g & I & / Prevent excessive
rotation of bogie when under the coach body

C. 8pe deedort Boaba) Sdaben / e #
Afem iy % I3 F fre / To prevent rolling motion of
coach

D. eheerg,e3dd alreghrde o) / Iwie & F w7 /

None of the above

18. FIAT eboeRab #8030 IR~ #podhdd:

100 wosrish (¥s ' Marks)



doeen B aiagdde 100 B¢ ridr! eudd Jed
ot @ 100 vt W v
ANSWER ANY 100 QUESTIONS

ot/ WA |/ Durstion - 2 howrs
18 FIAT weh wn fpdhom Promes pudl ot §

18 Secondary suspension of a FIAT bogre comuins

of

A @4, sadbnr 4 or? | whwh wien five / Fleni coil
spring

B. DO R orf /wm fim / Air Spring

CAogosB/umd/EitherAor B

D. zbcu‘drbd angde o /i 32wt/
None of the above

19. 3,8 LHB &oeddrt oeder v dos, oy?

19. vi% LHB #ra # wifis ufat €1 wen feh 87

19. No. of phonic wheels per LHB coach
A2
B.4
C.3
D.8

20. LHB 20e3R39 238 231V Koal; oab)?

20. LHB %= # 3 Rew 9 g freft 27

20. No. of pressure switches in a LHB coach?
Al

B.2

C.3

D.4

21. LHB 880 5ohrive) &900 Lea vy
aode Sdaherh3a:
21. LHB vt s & §e dw = __ % w7 ¥ o o 2

21. Hand brakes are provided on LHB power cars
known as

A. @edrorf & rivh / wiid 3= / Parking brakes

g I 00 sosrtnls / e Marks

R e Leefrisly  wmmweie e Fmerpency
bl s

C Ay B oUde & & 84 Roth A and B

D ey Abt airagdclo 9y e & & oif o8
None of these

22. 19660 0,U, e (wuiddd) Sababrty
Aababd B8a0, votsd, A e8bHn BgTs Jedw
Adedohd.

22 . Y3 dar (3w P 1966 % _ Pram & men zra ehsw
s g b

22. Under which rule of Railway Service (Conduct)
Rules 1966, accepting or giving dowry is
prohibited?

A. dabab 12/ faw 12/ Rule 12
B. dabab 11 (A)/fm 11 (A) /Rule 11 (A)
C. dabab 13 (A) / fram 13 (A)/ Rule 13 (A)

D. dabab 14 (B) / fraw 14 (B) / Rule 14 (B)

23. 50F wes* 3O, BPabQ mevab ws3as
208ab BEred IHHTO eV
R AFwaoDh:

23. arg ¥ yored , didt & 7 o i froae f 7 F e E
T T R

23. In air brake system, brakes should not apply
when the rate of drop of air pressure in BP is

A. 0.3 Kg/em? 60 38038 / 0.3 Kg/em? 60 & #
/0.3 Kg/cm? in 60 sec

B. 0.4 Kg/cm? 4 I803O / 0.4 Kg/em? 4 ¥ i /
0.4 Kg/cm? in 4 sec

C. 0.5 Kg/cm? 30 J0u'3Q) / 0.5 Kg/em? 30 Hehg
/0.5 Kg/cm? in 30 sec

D. 0.8 Kg/cm? 8 I3B0z=Q / 0.8 Kg/em?* 8 e i /
0.8 Kg/cm?in 8 sec



doeenn B alraghtie 100 2o Ot suddd Jed
fet & |00 9o wr 7 #
ANSWER ANY 100 QUESTIONS

- .
b | i: | uration 4 hours

2,0 Jroor g0 svEbab 3o Y My,
alngo”

24 wpe faun duftn @ @ fed swn =@ 2

24 Condemning size of side bearer wearing plate is
A 10 mm
B. Il mm
C.8.5mm

D.9mm

25. DV 32 edrtnowen ol euason weefe
dniey?

25. 9% DV &t arem & fem wman &, @ #9139 9 7
& 87

25. Which equipment is not charged when DV is
isolated?

A. Boudneer DI DR Ujes® AOoBTF / friam
e 3R s st/ Control reservoir and brake
cylinder

B. Wje5* AQo@0F / 3% feiet / Brake cylinder

C. Botdneer BT ahd) Fweahs OJF / Adaw
w3 gems s / Control reservoir and
auxiliary reservoir

D. J@ooh8 Ot SR ujes’ dOoTF / wews

FETA 3R 3 faeiet / Auxiliary reservoir and brake
cylinder

26. 3URT Fbab NobRBY sech) B350 I8,
F0FETY anad Srird, 3dnmE VT Jahab
FOGNRYE?

26. wftrat ¥ wg fafr i ¥ ded (o FHamal F 6
T o wad v w1 w2 i ured 27

26. Under the Hours of Employment Regulation
Act, which category of railway employees has the
strictest working hour restrictions?

(| x 100 = 100 sofrish  ws / Marks)
A Qe ndm Loy ol v sbed  Supervisory
stafl
B 3ed oo dua] drnadhdd Badr dchy mex s
Intensive workers
C. od03 Ay 08 / ymwftx shwf | Admmistrative
staff
D. 33300 80TAVE ehed wasdy/ brnra vt 4
widw® / Supervisors in non-intensive jobs

27. 8u”IMTC Fed,3 seal), 1923 LBALY B0FWT
2,e803w aingde S0 vybuabe?

27. wfts wamaan affam, 1923 F aga gamasn yw 3 F
foe ¥ w Prefaftea o ord 8t 82

27. Which of the following is NOT a condition for
receiving compensation under the Workmen’s
Compensation Act, 19237

A. 8,0h33 o2 8% Teadad HTRRT o) /

=fTd wnetare! & Frw 912 / Injury caused due to
personal negligence

B. svdnerd Sabob@d Teds Foda / T %
@ 57/ Death caused during employment

C. 2933 Fpnr woridBuB / wrf f feimar/

Permanent total disability

D. 8,380 deerirwb / 3at i/ Occupational

diseases

28. BaF < B0} 500 B)0TWSob, HFST
rdg vs53dhd uad ISaba) om) rotdrivh?

28. swarm Hftfia ¥ Ted o 95 ot F frg it
A w1 e fed e &7

28. What is the maximum permissible working
hours per day for an adult worker under the
Factories Act?

A. 8 roedridh / 2 / hours

B. 10 rot3rivh / 42 / hours
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RS e B TR e R

doten B dngde 100 2.¢ rer! eudd Jed
foh o 100 o9 w2 e &
ANSWER ANY 180 QUESTIONS

esZD / AT / Duration : 2 howr
C 9 roudrivh / ¥ / hours

D 12 fourivly / €} | hours

29 waddead ¢, 1 erivQ energy Addrser! alnd

20, v verk & wowl wewa & fivg W3 w e yom
o wm 7

29. Which standard is commonly used for energy
management in Indian Railways?

A. 1SO 9001

B. ISO 14001
C. 1SO 50001
D. ISO 3834

30. e08ead By eriv areton dortdaen
deanuiz B 73, 06f BAE o), BATTQ evE
SnRdoIHIT?

30. v W@ & we it siwrse § v i W e g w
At it &7

30. The flange thickness in the standard wheel
profile of Indian Railways is measured at a distance
of:

A Eﬁ?“ots‘ﬂa‘raod 10 mm /= e & 10 fisft/ 10

mm from the flange tip

B. q—:a%ozs‘da‘saod 13 mm / = R & 13 feft/ 13
mm from the flange tip

c. E)?“oﬂ‘ﬂafraod 15 mm /&= few @ 15 fnft/ 15

mm from the flange tip

D. g, 02f 3&F Qo 20 mm / wi=a Ra @ 20 fat/ 20
mm from the flange tip

31. yeddead B, env aaBord Sortdees
Seanudg, 30 o I worlad) Teaed@en ad)?

31. v W F aee ufte Wi i 3 6 ewm g
et 27

g 10 W ssnsrtds T ow  Nlarks

3 The sloge of the read on the tandiard Indan
Raibways wheel profile o rypacally

AL1D
hi2o
C 13
D 140

32. teehabq dainqleddn suy alnd Yvod
e obInAd?

32. dvft & woeie @ w6z fem am 87
32. Equalising stay in a bogie is fitted between:

A. 8VAS & orf a?‘ou‘ D) eey oF / A ferm
wis afk et/ Lower Spring plank and bolster

B. VAR & orf 3, 05" DB 2edS {orf 33, o
7 Fraen fistn < ait 39 R </ Lower Spring plank
and upper spring plank

C. edn eaF ) ded / zew 3t 3t&/ Transom
and body

D. Joutf dpees 23 W & DoboF / iz fimz 3
wrgs femw / Centre pivot and side bearer

33. g o drrirrdesdeodr LAY,
2803edTew aresdt) wvd dreddued?

33. waw TS ¥ wy W i R wed § wr s =fee?

33. Alignment to Axle guides should be measured
with reference to:

A. Foeatk dedpess™/ 3 fiae / Centre pivot
B. 438,03 &sged / == 9w / Wheel base
C. B 09 / % & / Head stock

D. BSS 259,8e3 / BSS #%2 / BSS bracket

34. 88 o oorF Beek, BOWRTD Schaecbzdeobrt
20 3eOTdedd

SOUTH WESTERN RAILWAY



M =ar®

e o

dntm‘a adragdcle 100 gqm eu3d e
it o |00 o w2 T B
ANSWER ANY 100 QUESTIONS

_63p / ¥af@ / Duration : 2 hours

14 veun tx Ve 8 wd #3 2 we e i

14 Axle end holes should be cheched with gauge
for correct

A Xeor @rf dw e Thread plug
B Eeaf Dore / #2 M/ Thread ring
C. dewot /e / Feeler

D. &y & v/ Snap
-

35. doaBorf @d,ab Swayaeh and 5065,H
tudaieeAdoIrh3d?

35, A wirn g v R frafg awin A 9 27

35. The process of tempering is primarily used to:

A. B)@3abR) B Tew / w3 gH % fira/ Increase
hardness

B. 33 BYIw B) D & 88D AadFdd

Zweosd 7 Toughness gord ¥ firg ik fireerw 1 #9 F3
¥ fig/ Improve toughness by reducing brittleness

C. 80308 3BV Sriobe / st FE! # &R
¥ fore/ Remove internal stresses

D. Sya3 segRen / wrfere Ter % fw / Improve
ductility

36. 3YAR alea SQort TR pan, obrt
Jed BT 2o svaaieer; JET0
WYR3BS?

36, Frerforfaa 7 & i A AR o i @R &
S ot 2 o o & Fie i s 87

36. Which of the following welding methods uses a
consumable electrode that is coated with flux?

A TIG Qvoba / TIG 3R / TIG Welding
B. MIG Qoab / MIG 3fer / MIG Welding

C. &% Qoo (SMAW) / ek et (SMAW) /
Stick Welding (SMAW)

(1 x 100 = 100 sosrtdy /¥ | Marks)
D esde? Sondsd e e | |aser Weldng

17 TG duabddy madnd e dnd Shrivd,
dudiits wVdurhEd?

17 TIG ¥een woee fawrk o poitn £t ot 1)

37. TIG welding is most commonly used for
welding:

A. Upea D) deeBdyd daedrv Bg duaririv
/ %m af - wrga) ¥ 7ot @e/ Thin sections of
ferrous and non-ferrous metals

B. deg Sude Jeninivb / @ dremms we/ Large
structural sections

C. 35" FUBNW / wiitzs 2%/ Plastic
components

D. drdedabef rish / fre-urg wrnft/ Non-metallic

materials

38. oairea)esdun 2300ahQ, S1de0R), Clalel
BT DodbAod shecSabo 53030 DTN
D) JoIo:

38w ShE #, 2ie F1 36 e wRe § smom
T e @ o R

38. In the normalizing process, steel is heated to a
temperature above its critical point and then:

A. ToaBO RN Bomeehed / T ¥ -k

a1 fiFr wmar @/ Slowly cooled in air

B. JedIQ 3,03 2ede3dn / et # e o i 2/
Quenched in water

C. 3o Beded0r / W A = fiar s 2/ Cooled
in a furnace

D. ogabe 3,03 dedesdn / o1 i e de1 e aman @
/Rapidly cooled in oil



deeen B cngdde 100 gi.nm eudd 8
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ANSWER ANY 100 QUESTIONS

B / HAMW / Duration : 2 hours

(1 x 1600 = |00 posirtd; / ow ) Maetig)

39. MIO Svab (s ey M0 4
o LVALd 24 theu dndd?

39, MIG ¥ftstn (&7 yad fu) & Py wrera: wds m ol o
wom fow am 17

39. The most commonly used power source for
MIG welding (Metal Inert Gas) is:

A. S033rRIbeL Qo (AC. / stk wm (AC. /
Alternating Current (AC.

B. Sed Oa, o (DC. / R wra (DC. / Direct Current
(DC.

C. o8ds AC &) DC /¥t AC 3t DC/ Both AC
and DC

D. Rth 803 33 / fi7-wor it / Three-phase

power

40. 35 duabd (SMAW) ab ©odeerh?

40. Rew afegn (SMAW) it ferdiar = 87

40. Which of the following is a characteristic of
Stick welding (SMAW)?

A. A0o3T0aeN ders* 3,0 atddn er V)
WYRIIBT / T Rie YR R FerE 31 3w w8/
Uses a continuously fed wire electrode

B. 0 @508 33 BusRy oridd / o R am
it g 41 v st &/ Requires a constant current
power source

C. RDESreN 200 VRTEF M), ©NSId / Jur
¥ foye us AftFa e it arawsar €6 8/ Requires an inert
gas for shielding

D. 33, Sahnva) Jodbdw w¥Iw erbdde /
Wi Tl 3 Aee 5 o gwen v 7€ R o1 g/
Cannot be used for welding thick materials

41. JuabhI Serixy S0FeD VehFWerb?

41, I it i 1 1 W YT 87

41. The welding speed affects:

A Suchd gted eu3dd doed /s ke d 2
sr?  Heat input 1o the weld roee

. diat dordd Suatisd 7 b ke wr womer - The
fusion of the hase metal

C. Juab3d sodd ded bty oy / e w

afw wu atx v / The final sppearance and quality
of the weld

D. ib!d&d)od:ﬂ\b 7 s ot / All of the sbove

42. JuabIBQ Tarf Fedd 3 Bew alndch
dragulesy?

42, ez i v gvE # det ¥ Rrg wn R e wrfee?

42. To prevent slag inclusion in a weld, one should:

A. BBAIRT 2tIda e Zots D) JvabiS
QabEbriva wYRes) / R Fw sh dfee

fpftze 1 3w w4/ Use the correct electrode angle
and welding parameters

B. doahER, Sv7 S0 whed ‘sojaai;‘ TOadah
RBriedaes) / fvdn & vt Fm A 7w I I & WH
#t/ Clean the work surface properly before welding

C. Bed), berdorfRimh, Iddedd / srafirs éien & o

/ Avoid excessive preheating

D.A=@) B/A 3B /Both A and B.

43. VbR Bo3ahON S3SabR) Howh SeBd
O SreaeR?

43, deE Sige § R F1 FURA F forg 72 0 =miee?
43. Cracking in a weld joint can be remedied by:

A. QUAbR SenSY B DT / AfeE i 7w/

Increasing welding speed

B. ova@ eedd 38D eI / e FE F F

e/ Reducing heat input



dacenn B alrachcte 100 B 1O sudd Jed
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ANSWER ANY 100 QUESTIONS

D / waft ; Duration . 2 hours

C woth sugd Bdab QO Sy Vb /
sea-mf ) fen wmef) w1 g wan - Using o high-
strength filler material

D. E&tdqoqw [ 3wt wdt / All of the above

44,150 3834 Z&0, dnRgoh Juab varBmh
FoaEed vo3TY?

44. 1SO 3834 ¥ sren, Frfuflm § & #7 w1 3zt €1 G
% for e wee 7 22

44. According to ISO 3834, which of the following
is not a key aspect of welder qualification?

A. 210 SV JuobI 0B / Judzw B
Jeefaferdt / Weldability of the base materials

B. Juab g abab @By / afeer shirn i wdar/

Correctness of the welding procedure
C. JUbIBCR BDIS / dvet 1 i/ The

welder’s experience in manual welding

D. Juab Feea v, 2H3) dreIdodriva
LHBORDFPod 7 e Fe i o F T/

Compliance with welding codes and standards

45. SBATES B3 ababY), CVSBTRD) Bert
BORIS?

45, =fin wfirar §, v F§ wem 87

45. In the turning process, the tool moves:

A. 5203 208 deBobOairaf / Frid & e
#9 %, Radially to the workpiece

B. 5abFd SoBob GR0E, / il H ¢ ¥ amw/
Along the axis of the workpiece

C. sabrd oBab Gedd, S3deet i / e

# yft % saaa / Perpendicular to the axis of the
workpiece

D. dedu 3338900 SeriFdy / Fae TieTER T
Only in a circular path

(1 x 100 = |00 esosbrind) / »% / Marks)
46 ddvhad malresuddal) maatrad oW
wvabd s30xhd vusddn g’

46 7 stvivrn # wwrows. 0 m s v g fow e )

46. Which type of cutting tool is typically used m
turning operations?

A. Loth 3o svdddn / vs =z g A fat ool

B. wotd dorteF edbour 330z evaEtn / =
fimer-digz Ffm 79/ A single-point cutting tool

C. woth wdzvdbotr Z0T LvT80R / ™=
wedl-diez #f2m 7 / A multi-point cutting tool

D. dobabor 3= evaBon / v emHe R e/ A
diamond-tipped tool

47. B¥AR0RINVY ainRd deeaTs oy
wrf I3 TNE?

47, Pl 3 & =19 ar wnfr Feiet & 9k & 5w 27

47. Which of the following is true about planing
machines?

A. Babr Dord 303 vHI0RE, Trb3W / FH
ZF81 %1 7w % v s &/ The workpiece is moved to
the cutting tool

B. 883 vua8dn QUmNG / Fim @ fer e 2/ The

cutting tool is stationary

C. 383 evasdn svabr ol merh3d / s
% g% it afit s 2/ The cutting tool is moved to the
workpiece

D. sua80ng Sedu wotd B33 T /

7ot %ael U R # Ferd # w1 R/ The tool can only cut
in one direction

48. 3¥ARorive, aregch ddorf
seainrudsabd B EnRF @ wvaba
83073 vw3sdnaend?

48. Prefafen & & @ @ ffet stivon & aa v s A
Im fen 91 aren w7
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odb wafl / Duration ; 2 hours

A8 Which of the following i the most common
type of cutter used in milling operstions?

A, Wat? daeaf S0 fin B v/ Rall nose cutter
R gexf e BLO* /b fom v / Face mill cutter
C QQQUHW-MMGHIWMIIMH

D. ulorf v BLC* / feafin w21 / Slitting saw

culter

49, B0 830713 B3abab), 8B euBBT:

49, wre wfen i &, #fn 7=
49, In the thread cutting process, the cutting tool:

A. vow B3, BORIT / Tt R & wwwn R/

Moves in a vertical direction

B. seabr 2o .ﬁdmhcbmn Qb
ShAZRrLBE / Fr g e e & sl g7 RN

v 2/ Is rotated while the workpiece remains
stationary

C. saabr BoBab G108, Jedeabaan HORMIY /

i 72 1 g & W Yeha w9 & <o &/ Moves linearly
along the axis of the workpiece

D. 2w soabF B0l ed, 1 F5e3) SNV
3303 / 78 %7 g i Waw W A e Hew ¥/

Cuts material only on the surface of the workpiece

50. P oF o Bert TRABRrHZT?
50. de = frer faer warC i e e 7

50. The pitch of a thread is defined as:

A. 98GR FDeBIDS Frry SDA ©o3T / A
TR 5@ % o #7130/ The distance between two
adjacent threads

B. a0th Sdoadad svasddn 33003
sab30bnv IS ©oIT / 3 FmaR g FEHEA

# 7/ The distance between two consecutive tool
cuts

10

([ x 100 = |00 Sodrish | » / Marks
C “ddlﬂ‘t y in o e - The leogth of the
thread
D 608U ey 9o / 0 g oed @

The thickness of the material cu

51. deditf W orf3Q, 603 cudiddody, dert
derf dnduarbdd?

-

51, e 2t 4, 5B 79 @ Ao v g fon wm 17

51. In taper turning, the cutting tool is fed:

A. BaabF 08 ehed, A 3 3deegiah / = 758

# wae & #waa/ Perpendicular to the workpiece
surface

B. saadf o8I abtd‘“r! AR, abaeh 7 #d 753
#) e ¥ wawtm Parallel to the workpiece surface

C. saabF B0B3 08, deess Bedabd /
7% # g $ w0/ At an angle to the workpiece axis

D. deBohdee wyirt / ¥ae wv @ afe # R/
Radially inward

52. Rabof 30T, ©0388 AALTRVRY
320Rw ARG IR TErRTN
wVBaRHIE?

52, firgu s #, atiafe frac 9t w12 F for o faftr =7
T I R w12

52. In gear cutting, which method is commonly
used for cutting internal gears?

A. Bedorf / aftr / Shaping
B. bOorf / fifdim / Milling
C. H,0B0rf /amfen / Grinding

D. modorf / &fim / Hobbing

53. BvASorive, adred Fese) deecf rleef
priae?



docen B clraghtle 100 ¥ AOr eugd e
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e ¥ Duration - 2 hours
£ frnzinfge i @ o m wrs @ *y o T 9

3 Which of the following components 1« NOT a
pant of a bore gauge”

A dondt  ww / Plunger
R daber deud /e ffiedor / Dial indicator
C. Aoder / frrwa / Spindle

D. drad wadbrivb / w3 areh 792 / Measuring

jaws

54. devtF rieef o g S vy dnddw
wvdoRrhdd?

54, $ren = =1 3w Bl A % e e s 27

54. A feeler gauge is used to measure:

A. B G /s / Length

B. 329 Q#rf'é B& 83 / fu i werd / Thickness of
gaps
C. ¥ / mews / Depth

D. &npeea / %/ Angle

55. 200 Se3rabo’ SBBBY 50 Frinw DR

Sway, ISBEY 49 NFeriri@gd, ud 8z oedd
om),?

55, o e S i 50 fedfom 3 e dwm # 49 Refew a9
R, 36 =T it 7 82

55. If a vernier scale has 50 divisions and 49
divisions on the main scale, what is its least count?

A. 0.02 mm
B.0.01 mm
C. 0.05 mm
D. 0.5 mm

11

(1100 - 100 sofrivl  ww  Marks)
56 o4 0 AT def 34 S | HR

RanfrivQ gert Deyrta OZenrtind

86 w8 Yoy v w0} vy gamy @ wwd 3 B | }H B 3
rerfifigs 4 8 4 @ pearn B fop e )

§6. To avoid tilting while curve negotiation, [LHA
coaches are fitted with

A. sot) daetsf wad’ / oA ta ar | antiroll bar
B. ugﬁa‘ o0 / ¥9a iz / traction rod
C. uglga‘ Oed0F / 3w #ftat / traction lever

D. 8ouda et warf / gt @ / control bar

57. 88 F dotF B30t o dbaLS este aiﬁqs
Nm sfd3d

57, g st e 35 g v v ) e 9
Nm %

57. The torque value to be applied for the axle end
cover is Nm

A. 170
B. 100
C. 200

D. none of the above

58. oo SeriSTeIB, o]
RozdrBwandd

58. e @ H B wirgT ™

58. Brake accelerator is connected to
A.FP &= / FPurw / FP pipe

B. BC &, / BC v / BC pipe

C. BP 3, / BPwrw / BP pipe

D. eI A& B/ 370w At B/BothAand B

59. LHB Mﬁ#g alra 3%08 CBC taa'g,du‘
Sndaend?

59. LHB %=t # fre w#r %1 CBC = i s 87
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j; " D / A / Duration : 2 hours (1.5 100 = 100 sosried / ws / Marks)
. 59, Which type of CBC s fitted in LII coasches? 62 How moch ol i reqared for ome side bearet ol
AE _—
1 AL
: B.H
' - BISL
C.EN
C.16L
D. None of the above
D.2L

60. LHB &persriv) CBC 2 odmar uoer
333 aind BBV00 B, AaboFrivay,
Segerrvad?

60. LHB #¥di § CBC % 7 wew @ 7 ¥ forg i wam &
g fire fog smt #7

60. In order to avoid jerk in LHB coaches with
CBC, which type of draft gears are provided?

A. donef @ / fimer & / single pack
B. £}7F @9,5° / 2 &% / twin pack
C. 23,0, /g / balanced

D. Ppeedort B5o0 / wiien w#r / floating type

61. 8nexdort 8,09, Iwaah3 Bxaerabof O
ri weefe Sduerh3nd

61. T 3§, werw erwr Rl TR A
ST 2

61. In coaching trains, Auxiliary reservoir is
charged to

A. 5 kg/cmsq
B. 6 kg/cmsq
C. 4.8 kg/cmsq
D. 5.5 kg/cmsq

62. wode ﬁém‘ 3edtF adberF waaFiaf aau'“ a§
2ed?

62. o w1 e 39 EH ¥ g Rt 39 6 w87

12

63. @n3doddy =ef riaf:

63. vrs A

63. Standard wheel gauge is:
A. 1602 mm
B. 1600 mm
C. 1599 mm
D. 1604 mm

64. ICF &nerof POH 03038 38

64. ICF % & fig POH # safirsn &

64. Periodicity of POH for an ICF coach is
A. 18 Sorith /w1 / months

B. 12 oriwb/ wé / months

C. 9 ot/ wé / months

D. 24 Sorivh/ wé+ / months

65. uz3aly ﬁ@‘ai wPO* Fowo* ai:agea‘ aa:'u
ceche?

65. T TR BiF F Afkywan 719 e 27

65. What is the maximum buffer plunger stroke in
mm?

A. 129 mm
B. 127 mm
C. 131 mm
D. 133 mm

SOUTH WESTERN RAILWAY
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66 B0 e abay A BP L3doQ s0 sy
66, gz sy & oy QAP vera @ et B

66. Reduction in BP pressure for minimum
application 1s

A 10w LS kg/emsg
B.0.810 1.0 kg/cmsq
C.0.510 0.8 kg/cmsq
D.0.110 0.5 kg/emsg

67. LHB #re¥s DI A3FEE aSunat.;
BINVY dnduirh3d

67. LHB #19 =1 D wawam sy
fem s

feri

67. D1 maintenance schedule of LHB coach is
done in

A. 7+-1 days
B. 15 days
C. S3adpotd e / 5 4w / every trip

D. 30 days

68. ACP 2303 deaderh?

68. ACP & qu w7 77 27

68. The full form of ACP is

A. OO EnoBaxF B,aF / v FEhwA wgy/ air
condition pipe
B. ©edrfr o, gQorf / sremi 3 g/ alarm

chain pulling

C. O BT S,&" / @ Fwr w9/ air cooler pipe

D. &0 3008 AW / w firctet Rz / air cylinder

piston

(| x 1090 = |00 sosriy, / ws
60 daedor? 3 @ Lorles sty BOegat) Odes
ool A, et oA ot L3 1)

srivadcdy

‘.ﬁs_'- .

69 w¥fam fu @ (e an ot A sy ) 0 o
fam w3z it wfgs o B8 wiey

69. The rate of leakage in single car testing in
coaching stock should not be more than

A. 0.2 kg/cmsq/min
B. 1.0 kg/cmsq/min
C. 0.02 kg/cmsg/min
D. 0.1 kg/cmsg/min

70. S9~F-AC ICF/RCF #ner¥s3 nog e o deen®
oWt maﬁtdﬁf

70. ®-AC ICF/RCF #ra # st g0 wive 787 e

70. Maximum axle load bearing capacity of non-
AC ICF/RCF coach is

A 182T
B.1732T
C.1625T
D.I3T

71. BP 030 FP O0F #07F o) u,3e° drdw
g Idhm

71. BP a1 FP w319 1 srarae &0 & R 7 amaws &

71. To uncouple BP or FP air hose, it is essential to

A. 3308 ﬁfata‘ﬂvag B30 / Fesd v #i
@it / Open adjacent angle cocks

B. 3300 d0es* Vs, Swej / et e w7 72t/
Close adjacent angle cocks

C. doedoedod vaiy Bowoeen dwed / et & w
amyfit % #t/ Close supply of air from loco

D. 2hedS adredde oy / 3w § & 31 7/ None of
the above
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w / ¥aW / Duration - 2 hours

72, ICF doesfs weet wpe dby Seos W el
evOTesd My

72, ICF wia & drw whtw o wfte Ju & e warg vopd v

72. The gap between brake block and wheel tread
on ICF coach to be maintained is

A Smm
B. 7mm
C.8mm
D. 10 mm

73. tu8 BP w333 1.6 drmay/debed @@baart
tes* AOoTTR ndg wIdderdh?

73. == gt BP zar@ 9 1.6 /et weren & 4 o firete
siftran =" 4 B 27

73. What is the maximum pressure in the brake
cylinder when the driver drops the BP pressure by
1.6 kg/cmsq?

A. 3.0 kg/cmsq
B. 4.0 kg/cmsq
C. 3.5 kg/emsq
D. 3.8 kg/cmsq

74. ov CEDeNVRY Joz
3330 Aot LodhNTeled

74, wft THY 352 H TaTE W RN

gy W 2

74. All scrap items are to be returned to stores on
advice memo.

A.S.1830

B. M.268
C.ST47

D. DS.8/5.1539

14

y J00 = |00 Sosrivl | o/ Marks

74 doulases sty adef dee! A ety Sy,
7% W sk Bas der w0 b o 0

78 Torque value of control srm bracket bolt

A 200 Nm

B. 170 Nm

C. 150 Nm

D. 190 Nm

76. 8¥AS riding mdaodrh’on angd cudah
:dm&udodaiﬁgt&wgd?
76. Braffiaa § & B o usfEn Ry dga wsfEn Ao =7H

= 27

76. Which of the following riding index has better
riding comfort?

A.2.72
B.2.92
C 337
D.3.57

77. Boaf &8 rlovriasler=1a] aﬁz%acbd :Ddadz-!
Eife i Alept-A)

77. <9 AT wee ¥ for e foga gl

77. Power supply required for dump valve
operation is

A 110V
B.220V
C.24V
D. 440V

78. ¥ & orf wEF BAT, IBVS Serid
dobodm ____ ddverodrt

78, v R w2 1 Ry B w9 A TR Ao
Pl B
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Lo i 'a.'-‘f“‘.:

Durstsen 2 hours
TR 1o case of 20 spring burs the ipeed restriction
impoaed 1 k"r[‘\
\ 40
iR &
70
N 90

79, Peq qsa.wmq dent I o D) Jeeder ugd
Javd edd meab ded

70, i) forem & vty dwn st Wi ot & v A

79. The air gap between speed sensor and phonic
wheel in Faively system is

A.0.5t00.9mm
B.0910 1.4 mm
C.2.0t02.4 mm

D.1.4t02.0mm

80. ICF «lneArt .a&gm)rnams 433, IR
abeche

80. ICF st % fre arerr o =m0 finft )

80. Condemning wheel diameter for an ICF bogie
is mm.

A. 915
B. 839
C. 845

D. 825

81. =39, Bdorf cuadong) VAR ared Dedad
BB, BB0T wdBraenn?

8 1. = wfen swm Pr=ferfaa § & faw e § et |
F1ea F form e 27

81. Plasma cutting equipment is ideal for cutting
which type of the following material.

A. R.'Leainaf t!&((f | &= &1 / stainless steel

U 00 = 100 sosris,  we  \Marks

R deeEatoragde e wmd  forrous materal
O tdarsbed Sogde  Soobe o non- ferrous
material

DADRCodda A (2% hoth A and (

82. LHB deefRQ), thew dondd “Boz)” o574
Zee020d, yerr 4dabd adizd

82. LHB % &, wa ¥= ¥z "arer” R B, 01 %
foafy & gm

82. In LHB coach, when brake indicator shows
“red”, the brake will be in condition.

A. Oodridrieod / sw / released

B. o=, dbxienAd / wmy R / applied

C. Arus toeadznwdd / et dmgdt / indicator
defective

D. @3nvQ angde ©0 /5 & % 78 / none of
these

83. ICF dpee¥s rmevab Dxloerabf (AR)
md:qiﬁr

83. ICF %19 %1 wt frwmf (AR) s

83. Capacity of air reservoir (AR) of the ICF coach
is

A.200L
B.150L
C.250L
D.300L

84. e drdricdairrbaer, doedorf wyEs BC
Q0B MY WS Beerbad

84. 3% feefter & 2w, Fifn & & BC & gar et aeft &
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030 / ¥A / Duration ; 2 hours

(I x 100 = 100 o8rish / w= / Marks)

84. During brake release, air from BC in coaching
stock goes to

A. AR
B. BP
C.DV

D. ee®ya3de / amaram / atmosphere

85. ICF 8oees DV Jednh ainasdd
ov3aIoarb3d

85. ICF ®ra § DV ¥ firm w wrde firar san &
85. DV in ICF coach is directly mounted on
A. AR

B. 3¢5 &, / = wga / Brake pipe

C. Jez* 2Dod0* / 3= fufiiet / Brake cylinder

D. aaror); &,& wyBes / mr w s¥ / Common
pipe bracket

86. FRP €07, o~b?

86. FRP =1 =1 7w« 87

86. What do you mean by FRP?

A. P u0f DEoef @Rof / ww daie e / Fibre
recalling panel

B. 3~ dpeedorf mﬁu‘ / wrgA fgde & / Fine
reinforced panel

C. S5 8B T 5* / v freawr wefees / First
reduction plastic

D. 30 dFpee onf ma‘;’m frrwied s /

Fibre reinforced plastic

87. LHB geerivd aind dedab deevdr dgn
wvIrb3d?

87. LHB =t & form wam w1 dren dufty yaim fn amn 7

16

87. Which type of Roller bearing is used in L HR
coaches?

A. oy d decudt wen / ehd fm duitn
Spherical Roller bearing

B. M0V detvdf ge / @ fen duftn / Plain Roller
bearing

C. saurrf Wednfr deevdF g / wffa xvd fer
¥afor / Cartridge tapered roller bearing

D. 2een, 33 angde G / 3w # & #if 7/

None of the above

88. LHB Zeerive) wvaioarda s’ 33zab
33 Fe?

88. LHB et # watm 1 s arefl 3o worreht 7 fergrar 7 27

88. What is the principle of brake system used on
LHB coaches?

A. dorieF & medab Jes’ FB7 / fimer T TR

e frew / Single pipe air brake system

B. 7 3,5 mvab s SS3 / 7 T T

firezw / Twin pipe air brake system

C. 7 3, B~ Wes’ mvab Ses S3 / 7w

gy e foe s o 3% R/ Twiin pipe with disc
brake air brake system

D. e 3 adngnie e / 3w ¥ & w7 /
None of the above

89. ICF dner¥s Leetf o adnasddeodbr
Qth3d?

89. ICF #i9 # 6t an fm & ot &t &2

89. Sole bar of ICF coach consists of

A. Z Jeyert / &% / section
B. Y Qeyeri/ %= / section

C. I Serert/ #w= / section



Hocen B alraghete 100 A A0t srudd Jef
Feft o 100 w9t wr yer 3
ANSWER ANY 100 QUESTIONS

[ oyt i,
Pt

ua

DU et dwe  aection

Duration - 2 howurs

90 1CF Wathabh #Oses -lborf-‘-d G doeny
almac?

90 IL'I'mtm&mnmmmt‘?

90. The color code of helical spring of ICF bogie is
A. BVB, ded, B / e, e, w1, Yellow, blue,

green

B. 8vD, 80g), 83d) / ien, &, 51/ Yellow, red,
green

C. 09, e, BAD) / wiw, #ien, =1/ White, blue,
green

D. 29, gog), Bd) / we, @@, &1/ White, red,

green

91. PEAV Zpnr 3 orb?

91. PEAV %1 g am 77 27

91. The full name of PEAV is
A. BT ORSF MeRIFE L, / TR AT 3 AT

/ Power energy alarm valve

B. Z)adraels 35e3 wenafe DY, / Tl waw e

ared / Passenger entrance alarm valve

C. adeeds BRF verafe YR, / Il ST

sremd a1 / Passenger emergency alarm valve

D. &,a B3F venafe ayef, / v s
3t & / Pipe emergency alarm valve

92. WeeA-mounted Yol (A IBINYO, word
Bners ues Adodo Y ﬁoaiﬁ
92. ahft arste v 3 fvem 1, @ w9 1§ 3% fiferelt € ver

92. In bogie mounted air brake systems, the
number of brake cylinders in a coach is

A8

17

IERL LRI a_‘g;.!.'-‘q__ & “arks

na

93. LHB deerf3Q o) 303 magkiriu,
wvIdoarh3d?

93. LHB #1= & faat sifetr Rarew &1 swaitn o avm 3

93. How many carthing devices are used in alLHB
coach?

Al
B.2
C13

D. abcu%e&-ﬁd angde OO /370 § A 7# /
None of the above

94. aRf 5y Je3F OZ[oF Sodsrab3d

94. Wi ot Ft sirgar 2
94. Installation lever connects the

A. JB0orf aex, DB VAR R orf DedF / dafin
e 3R Fraet R o/ Leveling valve and lower
spring beam

B. IB0orf anef, @) aheds wloed FeaF /
wafem are ot 29 S S/ Leveling valve and top
bogie frame

C.20@0 A2R) B /i A 3k B/ Both A and B

D. abeen 8330 angide 0O / 3w & & T 7 /
None of the above

95. 208~ D) BB T IDJUuAdeD
saleexdrivbvertical sliding wem Jrdw, 8 G
2ode sdabe D3

95 ¥ S 3 2l TR #% i v
fore 72 o5 =0 e 2
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95. To protect vertical sliding between engine and
power car, the device is known as

A. Surser 3, 0F doulg OF / widen veya diden /
Vertical slide protector

B. dr%ﬂad / iftgwen / Restrictor
C. ogm TGN / g 01 / Protecting device

D. ey ddda dndhde o) / i 32 5t 4/

None of the above

96. LHB &aez#s FIAT daeAabds o
R,0B0FriV Ko,

96. LHB #= % FIAT arft # 4t &= &t s

96. Number of yaw dampers in a FIAT bogie of
LHB coach are

Al
B.2
C.3
D.4

97. a8z CBC N+ ai:c!ls WP 23030
(TR E R AL Slap]a] daaj démﬁsdafeab?
97. @ CBC ¥ sfiw awt 3= # 37rgwd Siftra e T 87

97. What is the maximum permissible difference in
buffer height between two CBC?

A. 70 mm
B. 80 mm
C.75mm

D. 85 mm

98. ICF 8pexfriva), Sidn BeBBod Jowoee
drderhad

98. ICF wisi =t frferfan & wra werm famn mn 2

98. ICF coaches are provided with

18

(12 100=100 eosril; < ww / Marks)
A Bdref eDor? | wie il Journal bearing

B @f thDorf / wz delw | Thrust bearing

C. fabo o3 Macamdd detuds ebor?

w-Bi¥firs vt Oew dwftn | Self-aligned spherical
roller bearing

D.MMMugfmiidm.
None of the above

99. ICF dpef= ootf weBabQ BvD 3 rivw
Aeuabch alraich?

99. ICF % ¥ tz atét w e wfal 7 gt wet £2

99, Yellow strips on end body of ICF coach
indicates

A. 80u3-t30RR,e ST / th-Zeiranfis / anti-telescopic
B. dR;aber odes / e #% / dual brake
C. /Y &F, OO L5 / wifiee T / inbuilt air brake

D. Sonr-630ed e3ORIR,edT / A-td-2efrehifies / non-

antitelescopic

100. ICF/RCF dpearive) Go enef oQa?

100. ICF/RCF =61  3gam 7qa el Ya &t st 27

100. Where is destruction tube provided in
ICF/RCF coaches?

A. Sway B G5 D) IFabB B Ty F Idbad
/ 7 ¥ R 3R wers ¥ Wi § e/ Between main
head stock and auxiliary head stock

B. 800NS Swa) B0 T5° / w8l Tea & wiw /
Outer main head stock

C. Boh8 B o Ll / wer ¥ &k & wra /
With auxiliary head stock

D. ebeen, 338 airecytle By / 3wl ¥ & i T /

None of the above
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101, o083 yadriv sada: 1961 alraaart
roNeEBoRdbxy”

101, snfersafa wmend wfufien 1963 sa ofa gan o?

101 When was Official Languages Act 1963
passed?

A.10.51963
B. 1351963
C.10.4.1963
D. 13.4.1963

102. 0683 wedriv Jabahnv Z,590, sodrr
D) Adeentt Beanv dna dde3sd
wh3S?

102. sty smaralf & Pt & s, stgam ol Rean
g forw & o 87

102. According to official Languages rules,
Andaman & Nicobar Island come under which
region?

A. 303/ &/ Region B
B. 3de3 / &% / Region C
C. 30e3 / & / Region A

D. Be, BT airoatie &) / 3w i & 7 7 /

None of the above

103. Beow, WBFTIT euTkeeNivrt o) &ob
Breferivh Aputuant?

IOB.WMM%WW%WWW
e &7

103. How many Hindi courses prescribed for
Central Govt. employees?

A.2
B.1
C.3

D.4

_ (1.x100 = 100 Sodrivh / ¥ / Marks)
104 deots, e o sucla eAriOr! danddend
T3S0 boD deesfr dradicl

104 bpe wrash whmird & By Og®e pufes @F worge
e

104. Which is the elementary Hindi course
prescribed for Central Govt Employees”

A. Beef | v | Praveen
B.a_i,dnecfsmmebodh

C. 3ige /v / Pragya

D. et A dreREe vy / 3w § w7 /

None of the above

105. 0633 goan valeerd 3507 ugeod
hed a3 J3ab 2edo edégd) alrdh?

105, st sl s £ fwif wofda affa % wee
e B 27

105. Who was the first Chairman of the committee,
which was formed on the recommendation of the
Official Languages Commission?

A. 2. 5o0a0berF / . armvE / G. Narayanan
B.8.9. Soef /. 9.4/ G.B. Pant
C. a. Me@0aeD / T Murrerd / A. Gopalaswamy

D. et B33 olrecytie oY) / 3w ¥ & #1§ 7 /

None of the above

106. ©B8)3 woa wrl vdrehoes Bed3abd o,
aid;r%d: Qus?
106. i wmn o dee affy § fa gew &7

106. How many members are there in the
Parliamentary committee on Official Language?

A.25
B.20
C. 40
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D. 30

107, 00,3 @ vbapd JDIriv Burivg
vahab od), dabobddhvId?

107. snfumfrs v fm=ms afifi 0 431 € anafirem
w7

107. What is the periodicity of the meeting of
official language implementation committees?

A. 3 Sontortaad, / i mé & & an/ once in 3

months

B. 2 8orterlesd, /2 méiA & ww aw / once in 2 months

C. 4 Boneriesd, /= wé? # v aw / once in 4

months

D. 6 donerlecd, / o wé # & 7~ / once in 6

months

108. eo, IZF0T &8 Brir evrdpennion
destod BeSab bod deefs aram?

108. Fy et ffte o st & fog freif st &
A 627

108. Which is the final Hindi course prescribed for
Clerical cadre employees of Central government?

A. gdpeqs / v / Prabodh
B. B)cdes / wefiw / Praveen
C. Sggo / wa / Pragya

D. e, 38 aneade ©Q) /39t § 7 F 7 /

None of the above

109. S@Fén,ond 10000 SWriv), B
wdolnaadr oab, P EAL AR C gl *l]
~edoarh3d?

109. vw i § 10000 ¥ wftrs w= foem & fom fore yom
qon fag w22

(I x 100 = 100 sosrivl ' we / Marks)

109. How many first prires are given in a year for
writing more than 10000 words®

Al
B I
C.2
D.4

110. Bpieerr BBedabl) aeaih ogiab~bod
300,000 voefJaf wadERRT 2ed anRdh?

110. ware it 5t fisht serm & o 3 & fog doam n
% ufr 7 27

110. Amount of Lumpsum award for passing
Prabodh by private study is

A.Rs. 1600
B. Rs. 1500
C.Rs. 1800
D. Rs. 2000
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